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1.What is the mascot of the Wuhan Garden Exposition?

R N » >
[%%] D; @M% (Garden Exposition) 54 .

Ut ] A Dy Bttt 546 Y); B MR (egkid) BmfB g, oy bighd e
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2.Which one is not a pop singer?

! i
A. Juslin Bieber B. Adele C.  Tavlor Swift p. Stephen Curry

[£%] D, ##I5 F B Stephen Curry
[###7T] Stephen Curry & NBA &/ B +-BA154 /5 .

3.The Olympic Games will be held in in 2016.
A.Rio de Janeiro B.Pairs C.London D.Beijing
[ %] A, Riode Janeiro

/@ #T] 2016 £F BLIE 2K AE LU0 HLZYFA A 77 384T

4 A father has 4 sons.The product (3&F!) of his 4 sons’” age is 30.How old is his youngest son?
Al B.2 C4 D.5
[(ZZEIA 1%



CRERTY SR, AN LTI 38 1, 2, 3, 5%,

5.What’s the Chinese for “teach fish to swim” ?
AFLITRF BAMAIK  CANTIGIK  Dx***
(4% A, PETH%

CAgT Y SR 2R

6.Which fruit is a rich source of vitamin C?

A.llemon B.apple C.banana D.watermelon
[ERY A, F71E 2018 SERJEMZ O
Uit ] ERE RIS, s &4kt C

7 The Chinese Horoscope of 2018 is .

() o825
A. B. c. ' D. .'
[%%1A B

[f##T] 2018 R EAEHM, + A B IIIFA: RAT, OX, TIGER, HARE, DRAGON, SNAKE,
HORSE, GOAT, MONKEY (2016 4£), ROOSTER, DOG, BOAR.

8|fA=2’ B=3, C=4, D=5...... ’ then, Y=?
(%] 25
Uit 1 A, FRHF+1

9.If you heat the white sugar, itwillturnto __ ?

A.pink B.red C.green D.brown

[%%]1D, iy

Ut AR AT E IR, EREINFAE B 228 AR (.

10.The total award is 10000 yuan.The award for each first—prize winner is 300 yuan, and 100
yuan for each second—prize winner.If the total award amount of first—prize winner is equal to
that of the second—prize winners, what is the ratio of first—prize winners to the second—prize
winners?

[%2%] 1:3

UfEnT] £o24E, aRmE. —5%% 300 o, —4%% 100 6, M%42 10000 76, —5%
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11.Mountain is to earth as waves is to
A. ocean B.sky C.forest D. water
[Z%] D, water

Ui#dT ] earth & SONMIER: Jet. LS 2 L, RIGEHLR, ZFFAN water K.

12.Read a passage , the word “birth mark” is underlined.



(—F/ B, T RIZ IR S SO
The Chinese meaning of the underlined phrase “birth mark” is
AfRid  BJE  CH8l  D.EEHE

[(ZZ%]1 A, Jid

CARBT YA ERAR, bR SOREE BAE IR S fiGid Cbirth mark), %% (mole), 454 (wrinkle),
I (whelk)o

13.How long will the hen hatch chicks?

A1l B21 C31 D4

[%%18B, 21K

Ut 1 A8 i/ NS T EZ DR, 5EWG RIAERR R, 5221 K.

14.From the words “queen, Alice”, you can suggest the film
(45 1 #97] queen, Alice, EHFZ4FR)

AFZIN 2Bl B.HETAE

[Z%R] A, RO

CAgt ] R R

15.In the same frying pan, two pancakes can be fried together each time.And the frying time is 2
minutes for each side of a pancake.Then to get 7 pancakes well—fried within the least time, how
long will it take?
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equals to Yuan?
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A121 B111 C131 D141
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